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1. (a) Use this incomplete 7’s row of the times table grid to complete

14 28 35 56 70

× 2 3 4 5 6 7 8 9 10

7

(i) 56÷ 7 = .............. (ii) 280÷ 7 = ..............

(iii) 98÷ 7 = ..............

(b) Use this incomplete 34’s row of the times table grid to complete

68 136 170 272 340

× 2 3 4 5 6 7 8 9 10

34

(i) 170÷ 34 = .............. (ii) 6800÷ 34 = ..............

(iii) 612÷ 34 = ..............

given÷sign (7) Q1: (a)(i) 8, (ii) 40, (iii) 14; (b) (i) 5, (ii) 200,

Q2: (a)(i) 4, (ii) 500, (iii) 18; (b) (i) 5, (ii) 14, (iii) 40

1. (a) Use this incomplete 7’s row of the times table grid to complete

14 28 35 56 70

× 2 3 4 5 6 7 8 9 10

7

(i) 56÷ 7 = .............. (ii) 280÷ 7 = ..............

(iii) 98÷ 7 = ..............

(b) Use this incomplete 34’s row of the times table grid to complete

68 136 170 272 340

× 2 3 4 5 6 7 8 9 10

34

(i) 170÷ 34 = .............. (ii) 6800÷ 34 = ..............

(iii) 612÷ 34 = ..............
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2. (a) Use this incomplete 7’s row of the times table grid to complete

14 28 35 56 70

× 2 3 4 5 6 7 8 9 10

7

(i) 28÷ 7 = .............. (ii) 3500÷ 7 = ..............

(iii) 126÷ 7 = ..............

(b) Use this incomplete 78’s row of the times table grid to complete

156 312 390 624 780

× 2 3 4 5 6 7 8 9 10

78

(i) 390÷ 78 = .............. (ii) 1092÷ 78 = ..............

(iii) 3120÷ 78 = ..............

2. (a) Use this incomplete 7’s row of the times table grid to complete

14 28 35 56 70

× 2 3 4 5 6 7 8 9 10

7

(i) 28÷ 7 = .............. (ii) 3500÷ 7 = ..............

(iii) 126÷ 7 = ..............

(b) Use this incomplete 78’s row of the times table grid to complete

156 312 390 624 780

× 2 3 4 5 6 7 8 9 10

78

(i) 390÷ 78 = .............. (ii) 1092÷ 78 = ..............

(iii) 3120÷ 78 = ..............
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